12.4

Dissociation Factor &Solubility Curves 
For ionic compounds, whenever you dissolve a solid solute through solvation, water molecules surrounds the solid solute thus breaking the solute into its ION form. When solutes breaks into its ion form we call this _______________________.

The dissociation factor is based on HOW MANY IONS the solute forms. The LARGER the dissociation factor, the more ions are formed.

Which of the following would you expect to have the LARGEST dissociation factor?


A) NaCl(






B)  K2SO4 (

C) KBr (






D) CO2 (
I.
SOLUBILITY:
A. Saturated solution
B. Unsaturated solution
C. Supersaturated solution
II. Use the solubility curve below to answer the questions following it:
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1. How many grams of potassium nitrate can be dissolved in 100 mL 
of water at 60 ºC?
2. How many grams of potassium nitrate will saturate 100 mL 
of water at 10 ºC?
3. How many grams of potassium nitrate will 
precipitate (fall out of solution) if 100 mL of a saturated 
solution of potassium nitrate at 60 ºC is cooled to 10 ºC?
4. 100 mL of water at 50 ºC can hold _____ grams of
 ammonium chloride.
5. 100 mL of water at 80 ºC can hold

 _____ grams of potassium chlorate.
6. How many grams of sodium nitrate will precipitate 
out of a 100-mL solution of sodium nitrate if the solution 
is cooled from 80 degrees Celsius to 50 ºC?
7. If 50 grams of potassium chloride are dissolved in 100 mL 
of water at 55 ºC, will the solution be 
saturated, supersaturated, or unsaturated?
8. At 40 ºC, how much potassium nitrate will dissolve in 500 g of water?
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Solubility Curves Homework
Use the following graph to answer the

following questions. 

1. Why do the temperatures on the graph 

  only go from 0ºC to 100ºC ?

___________________________________

___________________________________

2. Which substance is most soluble at 60ºC?

__________________________________​​

3. Which two substances have the same 

  solubility at 80ºC ?

​​​​​ __________________________________
4. Which substance’s solubility changes

   the MOST from 0º C to 100ºC? ​​​​
_________________________________

5. Which substance’s solubility changes 

   the LEAST from 0ºC to 100ºC?

  _________________________________

6. How much potassium nitrate can dissolve
   in 200 g of water at 90ºC? _____________
7. At what temperature does potassium iodide have a solubility of 300 g/200 cm3 water?  _______

8. You have a solution of sodium nitrate containing 140 g (in 100 g of water) at 65º C, is the solution saturated, unsaturated, or supersaturated ?_____________________________________________________________

9. You have a solution of potassium chlorate containing 4 g at 65º C. How many additional grams

of solute must be added to it, to make the solution saturated ?________________________________

10. A solution of potassium iodide at 70º C contains 200 g of dissolved solute in 100 cm3 water. The solution is         allowed to cool. At what new temperature would crystals begin to start forming?   _______________________
